9.-12.11. DISTANCNI VYUKA M6

DESETINNA CiSLA — procvicovani des.¢isla

Ukol: do SS vypotitej: (vyfot a posli MsTeams — CHAT)
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0,7 -0,5=
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6,2-1,5=
1,3+ 0,9=

2-1,5=
6,8 - 3,4=
3,4-2,7=
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25,8 - 4,4=
10,35 + 0,8=
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9,91 - 2,6=
H0-908=
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0,88 - 0,55=
11,3-5,6=
2,43 + 10,65=
29,008 - 0,3=
2,002 - 2,001=

5.
36+__ =4
i b= 5
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2,9-0,8=
3,7 o 0,6:
6,8 + 0,4=
32-0,7=
0,8 -0,8=

0,6 + 0,4=
1,0-0,5=
0,6 + 5,9=
2,5-1,5=

3,3 + 0,6=
1,8 + 4=
10,8 + 4,4=
4,7 -3,8=
0,6 +9,9=

21,7 + 0,412=
28,04 - 9,09=
7-0,381=
30,6 + 12,2=
2,00 + 0,56: :
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15,82 — 15,63=
17 - 0,04=

28 + 3,05=

09+_ =15
Des . =34
se e b 3= 0
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- +8,9=9,81

0,8+36=
0,8-0,4=
0,3+1,9=
23+1,8=
3,7 + 2,3=

51-1,8=
22,7 + 6,5=
11,3-0,5=
0,6 + 2,4=
5-0,7=

6,66 — 4,44=
32,4 + 10,63=
0,615 + 0,42=

68— 10,51=

1162 1 05=

1,01 - 0,08=
60,7 + 2,5= |
100,7 + 23,44= :y
31,69 + 9,8= |
12,08 - 12,07=






